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.Sm ﬁg erctse 1. Letsconsider the opposite circuit :
Select one method to determinate the output voltage ?
Choose from : ( Superposition, Thevenin, or Milman )
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5. Exercise 2:

i i ircuit :
Lets consider the opposite quadrupole cir : ‘ o
1/ Determinate the admittance matrix [Y] using parallel association?

. ————————————

[Y)= [Yl]*‘[YZ]"" et e

2/ Determinate its hybrid matrix ? [H]= - mmm




Sp‘,_ gira rcise 3 : Lets consider the opposite circuit with ideal di
diode. then determinate the dropping voltage V17

|/ Remove the

2/ Determinate the current flowing R;, for R\=R;= R,=500, E=
flowing Ry, if we reverse the diode? E

3/ Determinate the current

Vil':’e”l,""%::‘i' 5.y...;z.@...

=T RA (E + Rew_ )
R4 Rz+ReP3 +Rafe

ode:

10v, n=20mA?
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.spu. Exerc tse 4. Lets consider the opposite amplifier circuit: T Co

|/ Determinate the base resistor R, to have the operating point Q at the
midpoint (middle) of the static charge.

Considering the equivalent AC circuit below:
2/ Find the voltage gain G, and the input impedance Z;,?

Given: R;=100Q, Rg=1kQ, Rc=R=10kQ., h11=5 kQ,
h21=B=100, hy=0, Vbe=0,6 v, Vcc=10v.
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-SP“ Exe rctse 3: Letsconsider the opposite circuit with ideal diode:
oltage V17

1/ Remove the diode, then determinate the dropping vo
o 50092, E=10v, 1=20mA?

2/ Determinate the current flowing R, for Ri=Rs= Rs=
3/ Determinate the current flowing Rs, if we reverse the diode? F,_
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Spu. Exerc tse 4. Lets consider the opposite amplifier circuit:

1/ Determinate the base resistor Ry, to have the operating point Q at the 4

midpoint (middle) of the static charge.

Considering the equivalent AC circuit below:

2/ Find the voltage gain G, and the input impedance Z;,?

Given: R,=100Q, Rg=1k€2, Rc=R(=10kQ., h11=5 kQ,
h21=B=100, hy,=0, Vbe=0,6 v, Vcc=20v.
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